v ARk m
ATV IORT ST v =/ RILK

ATV RILD - RANZ—[F. AT L AN

EH 22120.

y =

¥

oo

v

090

EmiA

mE
AR
o« AT L A 1.4305 ( SUS3034HY )
avso- e
« AT L A 1.4305 ( SUS303#8% ) .
ZYTIXYF
~ 7

« A7 L A 1.4305 ( SUS303#Y )

ey

i

AVTFVIRTZ0Dv—R, AVFYIRAOREFEVET

sz

FAARRV A NT— (EH22120.) 2> T
AEORMNEEEEADENTEET,
BB 31EH

£

P ERTAHE

Ovo- +v hEBISEYTY,

FOMOER

s BEFOVY, AVFYIARILN, 4
FYPARTZoov—f., 4 F v ARNH
s FARRVA NZ— ATV IARARIB
A

FiER
ds
& D
=~ [T L
m o
=~ Ovs- +vh
o dy 22120.0515-.0520 ( A7~ L R )
- a
HE1A52
tNHALDER

h: 28.9.2024



v ARk m
ATV IORTZ Ty —/ Rk

iR
& ZHE NzH" @ i
d, d, ds I, I, Is ls le F, F, max.
-0,02 % min. min. 0 0
-0,05
[mm] [mm] [N] [°C] [a]
ATV LA
5 M10 x 1 21 45,0 5 17 5 15 12 6,0 14 250 43 22120.0485
6 M12x 1,5 25 54,5 6 20 6 17 14 6,5 19 250 65 22120.0486
8 M16 x 1,5 31 69,0 8 26 8 23 19 11,5 28 250 132 22120.0488
10 M20 x 1,5 31 80,0 10 33 10 30 22 23,0 54 250 179 22120.0490
Va1
TotH)—
& L>FH4X i
d;
[mm] [mm] [g]

Ov 23 v NS08675 (DIN 439), A7 L A

M10 x 1 16 52 22120.0515
@ M12x1,5 18 75 22120.0516
22120.0518

24 15,0

M16 x 1,5
‘ M20 x 1,5 30 32,0 22120.0520

SR i

S

ESQVTIATUA

FHOETERICOVTE, BNOREESEZRRL TILEEL,

"H2A52

EE HALDER hi: 28.9.2024


http://halder.com/jp/22120.0485
http://halder.com/jp/22120.0486
http://halder.com/jp/22120.0488
http://halder.com/jp/22120.0490
http://halder.com/jp/22120.0515
http://halder.com/jp/22120.0516
http://halder.com/jp/22120.0518
http://halder.com/jp/22120.0520

